Realiza las siguientes operaciones combinadas:

49+ 72— (5+4)-7+128:(8—4) =

75 —-V8+17—-234+5-(2+4)—300:10 =

123 : 43 +32.3%3:3*-20:(3+1)+5-3=

24— (14—-2)>+5-4-(3+2)+80: (3—-1) =
(44+43)-(9—2)+2*-52.32 +15% =

84+ (4-3):4—22-28:2%4+128:(5-2+6) =

(V121 —+100)-3+4%-2+7°+5% =

8—72+(5+7)-3+18:3 =

V50 -1+ (3+4)-5-120:4+33=

.137:13° +(23)2 =70 —25.28:27 =

. (V169 —100) - 7 — (22)3 — (3199)0 + 4. (6 + 3) + 80 =

(7+4)-(15—4)+23-3-(7—-2)+2°-32+5=

. 40% : 82 +32-.33:35 4196 + /100 + 69 =

. [(400:20)—15]> +13-2—125:5—3%: 3% =

.30 432: 34 (39)2:30-4144:12+3 =

. (V900 — v400) - 3 + 52 — 242 : 42 + (22)% =

(5% —4%)-2]:3+5%:5%+23 —\64 =

18. 5% + 128 : 4 — 310.312: 320 _ /144 — /121 =

19. V12 +13+9° - 5%(5*-5%) —2.5.6 - 15%: 3% =

20.7%-73-7%: 77 5. (3-2 4+ 1) — V144 4 (3°)100000 =

21. 1120 : 118 —34:32-102 - (2-3+5) =

22.724+2-(54+4)—V144—40:2 =
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49+ 7> —(5+4)-7+128:(8—4) =67

75—8+17—-23+5-(2+4)—300:10 =62

123: 43 4+32.3%3:3%-20:(3+1)+5-3=40

24— (14-2)>+5-4-(3+2)+80:(3—-1) =20
(4+3)-(9—-2)+2*—-52.3%2 +15%2 =23

84+ (4-3):4—2%2.28:24+128:(5-2+6) =31

(V121 -+v100)-3+42-2+7°+5° =37

8—724+(55+7)-3+18:3=1

V50 -1+ (3+4)-5—-120:4+33=239

.137:13% + (23)2 =70 —25.28: 27 = 168
. (V169 —/100) - 7 — (22)3 — (3109)° + 4. (6 + 3) + 80 = 72

(7+4)-(15—-4)+23-3-(7-2)+2°-32+5=1

. 402 : 824+ 32.3%:3% +/196 + /100 + 69 = 53

. [(400:20)—15]?+13-2—125:5—-3%: 3* =17

.30 432: 34 (3%)2: 30 -+/144:12+3 =15

. (V900 — v400) - 3 + 52 — 242 : 42 + (22)2 =35

(5% —4%)-2]:3+5%:5%+23 —\64=7

.52 4+128:4 —310.312:320 _ /144 — /121 = 25
N2+ 13+9°-5%(5"5%)-2.5.6-15%:3" =0
727370 77 =51 (324 1) — V144 4 (30)100000 =3
011%0: 1118 —3%:32 -102—-(2-3+5) =1

.72 4+2-(54+4)—+144—-40:2 =35
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